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KR 76.5 89.4 78.4 335




i
- —— Yo =

ASt-A ’ REERIES |

-1 e

St:c™ N\ &

T

EE2215
AL

Oa TR (IfEEMEEAE )

1 %E ‘I:Iﬂ Il\\.
XSt 1M bSt4(O) [CEWTEBHEDE A OREBomMSEBE L1mD/KEZERILT-,
SLAMBSELF(A) IZEWVWTREBOMASIKEISmDKEEZE AL,




A (m)

RIFE R A DR

16.0
14.0
12.0
10.0

8.0

6.0 -
4.0 -
2.0 -
0.0 -

® 5 4E108
= SFM3F108

) & 3
\)Q \7 _%_ \
4%% 5

O &

o

*St.1. 2R U3 THIER A LY SELY

-St.ATRIZER A LR

16.0
14.0
12.0
10.0

8.0 -
6.0 -
4.0 -
2.0
0.0 -

B A &M HLER

® 545108
w FF4EIR

-EH R TRTA LYEN

X2 FEHREOLRBIERA. 7ITA)



st.1(FEK) sSmEDIKE st.1(EK) smEDE S

34.2
—¢—H25 - RO3
34.0
—@—R04
33.8
\\ g5 336
33.4 %‘%A XY
—6—H25 - RO3
33.2 1 ~-R04 —
T T T T T T T T T T T 1 33-0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A
N
=
st.1(FEK) _15mEBD KR st.1(FE/K) 15mEDIE S
34.2
—0—H25 - RO3
04 34.0
33.8 A "_\\
_{E33.6 % ‘
33.4 -
——H25 - RO3
33.2 204 .
T T T T T T T T 1 33-0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A

X3 St.1(FEK) DKERVIESTDHTFE



st.2 (GEILER) _5mEDIKiE

st.2(GEALER) _SmEDIES

—4—H25 - RO3
~—R04 s 34.0

A A S

R
a 336
334 -
——H25 - R03
= —8—R04 —

T T T T T T T T T T ) 33.0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A R
St.2(GEALER) _15mE D KR St.2(EALER) _15mEDIESH
34.2
e=@==H25 - RO3
e=fil=R04 = 34.0
33.8
i§33.6 . \
33.4 -
e=@==H25 - RO3
332 ~—R04 |
T T T T T T T ! 33.0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A R

X4 st.2 GEILER) DIKIER TGS DHEF



st.3(H/E) smBOIKE st.3(H/E) smENIES

34.2
—4—H25 - RO3
~8—R04 - 34.0
33.8
$33.6 Av’\
334 - / \
——H25-RO3 W
332 - i
~8—R04
T T T T T T T 1 33-0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A
N QE N
st.3(FHE) _15mEBD KR st.3(FHE) _15mENDIEH
34.2
—4—H25 - RO3
o RO4 i 34.0
33.8 M_\
3;33.6 -ﬁ ‘
334 -
——H25 - RO3
33.2 R0 .
T T T T T T T T T T 1 33.0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A

X5 St3(HE)DKERVESTDHTZ



25

20

15

KB (°C)

10

St.4(BEMM) _SmEDKIR

st.4(BEH) smEDIES

34.2
—4—H25 - RO3
—@—R04 i 34.0
33.8
R
3 336 /\
334 - }
—0—H25 - RO3
332 -
—@—R04
33.0 ——

4

5 6

st.4(BAEP)_15mEDKE

7

8

9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A

st.4 (B &) _15mBEDIES

34.2
==$==H25 - RO3
B—R04 | 34.0
33.8 ”
(R M
33.6 -
e N
334
==¢==H25 - RO3
33.2 RO4 =
T T T T T T T T 1 33.0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A

M6 St.4(BER) DKERVIESDHERS



IR

5m,

Fi - b \____--"

b P p——

AZ-Z 1‘ AEERARSE |

T

EE2215
AL

OFF I (HREMERX)

X7 smEOosOO07J4)L=

XKEFTRELEETHY., EHGEETIEHYFRE A ERDOHEIHIGELERELTIF
RSN (AZELOLTORRIEITEEEA)




10m|

IR

Fi - b \____--"

b P p——

AZ'S 1‘ AEERARSE |

T

EE2215
AL

OFF I (HREMERX)

X8 1omEN/O07J4)L=

XKEFTRELEETHY., EHGEETIEHYFRE A EROHEHIGELERELTIF
RSV (AZFE D TOERIETEFEA) -




15m]

IR

~ N -

b P p——

[
BEERAES

T

EE2215
AL

OFF I (HREMERX)

X9 1smEN/O0074)L=

XKEFTRELEETHY., EHGEETIEHYFRE A EROHEHIGELERELTIF
RSV (AZFE D TOERIETEFEA) -



